CREATE 2C EXPLAINED

KEEP THE END IN MIND
WHEN DEVELOPING
YOUR APP

THE MOST IMPORTANT PART OF THE
TASK THAT PROVES YOU HAVE
LEARNED SOMETHING THIS YEAR
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2G INGLUDES ROWS 4, 9, AND 6 ON

THE GRADING RUBRIC

Reporting | Task Scoring Criteria Decision Scoring Notes
Category Rules
Row 4 CODE »  Selected code segment Do NOT award a point if any one of the following is true:  Algorfthms are precise sequences of
SEGMENT implements an algorithm. & the aigorithm consists of a single instruction; or instructions for processes that can be
Applying IN *  the code segment consisting of the algorithm is not included in the executed by a computer and are
Algorithms RESPONSE written responses section of is not explicitly identified in the program implemented using programming
20 code section; o languages. (EU 4.1)
e« the algorithm is not explicitly identified (i.e., the entire program is selected  Algorithms make use of sequencing,
as an algorithm, without explicitly identifying the code segment selection or iteration. (EK 4.1.14)
containing the algorithm)
Row5 RESPONSE |+ Selected code segment «  The algorithm being described can utilize existing language functionality or library| e See Row 4 definitions and
2 implements an algorithm that calls. curriculum framework alignment
Applying uses mathematical or logical » Response eams the point even if the algorithm was not newly developed. (Le, a « Mathematical concepts include
Algorithms concepts P student's reimplementation of the algorithm to find the minimum value. ) ""':;\"e":a‘“’ Exp*emadns US;E ;
- arithmetic operators and mathematical

+ Explains how the selected ,’,‘f;f::g;i_‘;“;‘j’n‘i,‘jf;? ;gﬁ.ﬁ:ﬁﬂ: aai 1o 8 pakt. ot e seleiad shpbrkian of et functions. (E 5.5.1.0)

algorithm functions « Logical concepts include Boolean algebra
AND Do NOT award a point if any one of the following is true: and compound expressions. (EK55.1F
= the selected algorithm consists of a single instruction; or and5.51F)

*  Describes what the selected »  the selected algorithm consists solely of library calls to existing o Horation is the repefition of part of an
algorithm does in relation to el e bl algorithm until a condition is met or
the overall purpose of the e the selected algorithm does not include mathematical or logical concepts; fora specified number of times. (EK
program. e theresponse only describes what the selected algorithm does without 41.10)

ke sedrerae Proii Selection uses a Br')mean cana»:xonm
o the response does not explicitly address the program’s purpose; or :f‘:::;‘:\:‘r’;’;"(g:j fa":; ot.an
& the code segment consisting of the selected algorithm is not included t g b ‘ .
in the written responses section or is not explicitly identified in the @: Rersmion s the repiition of faet of an
algarithm until a condition is met or
program code section; or fora specified number of times. (EK
«  the algorithm is not explicitly identified (.e., the entire program is selected ey
as an algorithm, without explicitly identifying the code segment )
containiieg the sigorithm) = Selection uses a Boolean condition to
determine which of two parts of an
algorithm is used. (EK 4.1.1C)
Row 6 RESPONSE |+ Selected code segment « Responses are still eligible to earn this row, even if they do not eam row 5. # See Row 4 and Row 5 definitions
2c implements an algorithm that » The included algorithms can be sub-parts of the algorithm in row 5. and curriculum framework
Applying includes at least two or more alignment
Algorithms Lo P Do NOT award a point if any one of the following is true:
v Anhant e of e ki '« the selected algorithm consists of a singleinstruction; or
o the selected algorithm consists solely of library calls to existing
algorithms uses mathematical language functionality; or
otloglos conoage «  neither of the included algorithms nor the selected algorithm that
AND includes two or more algorithms uses mathematical or logical concepts; or
*  the code segment cansisting of the algorithm is not included in the

s Expiing how.com of the written responses section or is not explicitly identified in the program
included algorithms functions e sactioior
Independently «  thealgorithm s not explicitly identfied (i, the entire program is selected

as an algorithm, without explicitly identifying the code segment
containing the algorithm).
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OVERVIEW OF 2C

“Capture and paste a program code segment that implements an algorithm (marked with an

OVAL ) and that is fundamental for your program to achieve its intended purpose. This code
segment MUST be an algorithm YOU developed individually on your own, must include two or
more algorithms, and must integrate mathematical and/or logical concepts. Describe how each
algorithm within your selected algorithm functions independently of each other ASWELL AS in
combination with others to form a new algorithm that helps to achieve the intended purpose of
the program. (Must not exceed 200 words.)”

page | |

Part 2C centers around you designing a program that uses three inter-related algorithms within
your program. Knowing this, your planning of your program REALLY comes into play. Figure
out the types of functions you understand best (logic, mathematical) and figure out a way to
incorporate them into your project in order to solve your problem.
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ROW 6 - YES OR NO
WILL BE PART OF 2C TASK

Reporting | Task Scoring Criteria Decision Scoring Notes

Category Rules

Row 6 RESPONSE |+ Selected code segment » Responses are still eligible to eam this row, even if they do not eam row 5. s See Row 4 and Row 5 definitions
2c implements an algorithm that » The included algorithms can be sub-parts of the algorithm in row 5. and curriculum framework

Applying includes at least two or more alignment.

Algorithms aigorithms. AND Do NOT award a point if any one of the following is true:

At least one of the included
algorithms uses mathematical
or logical concepts.

AND

Explains how one of the
included algorithms functions
independently.

the selected algorithm consists of a single instruction; or

the selected algorithm consists solely of library calls to existing

language functionality; or

neither of the included algorithms nor the selected algorithm that

includes two or more algorithms uses mathematical or logical concepts; or
the code segment consisting of the algorithm is not included in the
written responses section of is not explicitly identified in the program
code section; or

the algorithm is not explicitly identified (i.e., the entire program is selected
as an algorithm, without explicitly identifying the code segment
containing the algorithm).

If you can totally kill it on row number 6, rows 4 and 5 will take care of themselves. This is
the row many students do not earn the point because it is not complete. If you master this,
Rows 4 and 5 will not be difficult to do.
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UNDERSTANDING THE PROMPT

FUNDAMENTAL — your “main algorithm” or “selected algorithm,”
or “algorithm one” when you go to comment in your code and
write about it in your write up.

* “Capture and paste a program code segme
ith an This would be your primary algorithm that two or more other

algorithms feed into

that implements an algorithm (marked
OVAL ) and that is fundamental for your

program to achieve its intended purpose. This
code segment MUST be an algorithm

This would include Boolean (and, or, not, greater than, less
than, etc.) or your if/then, if/lelse statements and anything
that would involve making calculations of some sort.

YOU developed individually on your
own, must include two or more
algorithms, and must integrate
mathematical and/or logical concepts.

Describe how each algorithm within your *“...Independently .. combination ...” Think in terms of PARENT
selected algorithm functions [GEPENCEAEHNOE and child functions. The child functions can work on their own
R\t but when there is a big need for the child functions to work

others to form a new algorithm that helps to Cy . .
achieve the intended purpose of the program. together, they need to be housed within the Parent function

(Must not exceed 200 words.)”
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Grumpy Cat Love
Poor Grumpy Cat is always
50 unhopg).v. Keep clicking
him until he gives in to Yow
love! (Don't miss or he'll get
annoyed and scratch you.)

o) 0:00/0:48

Create PT Exemplar Grumpy Cat

& Unlisted

6,317 views * Jan 16, 2018 i 23 & 32 A SHARE
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ALGORITHMS

Logic

if{(item == "yarn") &&

(yarnCost <= score)){
score = score - yarnCost;
yarnCount = yarnCount + 1;

multiplier = multiplier + 2;

} else if ((item == "mouse") && (mouseCost <= score)){
score = score - mouseCost;

mouseCount = mouseCount +

i
multiplier = multiplier + 10;

} else if ((item == "lasagna"} && (lasagnaCost <= score)) {

score = score = lasagnaCost;

ount = lasagnaCount + 1;
multiplier = multiplier * 2;

}

setPricesi();

<:::;§gEEisibleltem@jlj::::>

updateScreen() ;

Main algorithm “purchase” - when he goes to the pet store
Child | algorithm “set prices” — when he clicks yarn, mouse or Lasagna
Child 2 algorithm “setVisibleltems” — the resulting change due to ability to buy
or not which is based on the purchase data.
Mathisd3@duvalschools.org

EXAMPLE OF PARENT AND CGHILD

ount of All Store Items Math

rnCost = 20 + (yarnCount * 20);

st = 100 + (mouseCount * 50);
gnaCost = 500 + (lasagnaCount * 1000);

//Update Yarn Text

setProperty("buyYarn_button”, "text", ("BUY: " + yarnCost + " pts")};
setProperty("yarnCount”, "text", "You already own: " + yarnCount);

//Update Mouse Text

setProperty ("buyMouse button”, "text"”, ("BUY: " + mouseCost + " pts"});

setProperty("mouseCount”, "text", "You already cwn: " + yarnCount);

//Update Lasagna Text

setProperty("buyLasagna button","text", ("BUY: " + lasagnaCost + " pts"));
setProperty("lasagnaCount", "text", "You already own: " + lasagnaCount);

; abstraction

setProperty ("buyYarn_button","background-color™,"crimson");
//Change yarn button color if you can't afford it
if (score < yarnCost){

setProperty ("buyYarn_ button", "background-color", "gray"):

setProperty ("buyMouse button", "background-color","crimson");
//Change mouse button coler if you can't afford it

f({score < mouseCost) {

setProperty ("buyMouse_ button","background-color", "gray");

setProperty ("buylasagna_but

"background-color", "crimson") ;

'
//Change lasagna button coleor if you can't afford it

if(score < lasagnaCost) {

setProperty ("buylLasagna button","background-color", "gray") ;
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ROW 4 - YES OR NO
[PART OF 2C RESPONSE)

Reporting | Task Scoring Criteria Decision Scoring Notes
Category Rules
Row 4 CODE + Selected code segment Do NOT award a point if any one of the following is true: = Algorthms are precise sequences of
SEGMENT implements an algorithm. s  the algorithm consists of a single instruction; or instructions for processes that can be
Applying IN . mg code segment s:ans_lsting_ol the aigf_:'r_ithrp is n_c_t |n|_:1uded in the g)cecuted by a cc_:mpuler and are
Algorithms RESPONSE written responses section or is not explicitly identified in the program implemented using programming
2C code section; or languages. (EU 4.1)
« the algorithm is not explicitly identified (i.e., the entire program is selected » Algorithms make use of sequencing,
as an algorithm, without explicitly identifying the code segment selection or iteration. (EK 4.1.1A)
containing the algorithm).

This could be a sequencing algorithm with many steps that you can use over and over by just
calling it, or the more preferred would be something with math and/or logic in it.

It must accomplish a purpose. The function is accomplishing the purpose.
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WHEN EXPLAINING YOUR FUNCTION

» onEvent is not a FUNCTION you can use in your write up
— You didn’t develop the code for the “onEvent”

— Your code doesn’t start until and after the “onEvent” Choose something that comes AFTER the
user has started your app.

Mathisd3@duvalschools.org
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NOTE: If you accomplish
f— row 5, you will get the point
[PART OF 2C RESPONSE)

Reporting | Task Scoring Criteria Decision Scoring Notes

Row 5 RESPONSE Selected code segment » The algorithm being described can utilize existing language functionality or library|  See Row 4 definitions and
c implements an algorithm that calls. curriculum framewark alignment.

Applying uses mathematical or logical + Response eams the point even if the algorithm was not newly developed. (le,a | * Mathematical concepts include
Algorithms concepts. student's reimplementation of the algorithm to find the minimum value.) mathematical expressions using

: ANE) » Mathematical and logical concepts can be a part of the selected algorithm or part a"mmm operators and mathematical

+ Explains how the selected of either of the included algorithms. fun.'_:nons_ (EK 5.5_.1 o
algorithm functions » logical concepts include Boolean algebra
AND Do NOT award a point if any one of the following is true: and compound expressions. (FK 5.5.1F

and5.5.1F)

o lteration is the repetition of part of an
algorithm until a condition is met or
fora specified number of times. (EK
41.1D)

_ s  theselected algorithm consists of a single instruction; or

» Describes what the selected s the selected algorithm consists solely of library calls to existing
algorithm does in relation to language functionality; or
the overall purpose of the s the selected algorithm does not include mathematical or logical concepts;

. program. : 2 :
Th (] 3 rd b u I I etis e 22:1':]-?‘?: nizzn&ydiﬁc;h;s ol i » Selection uses a Boolean condition to
9 determine which of two parts of an

usu al Iy VVh ere k ) : the response does not explicitly address the program’s purpose; or slgorithmis used. (EK4.1.1)

the code segment consisting of the selected algorithm is not included a iterationisth tibion of et of
in the written responses section or is not explicitly identified in the ETONICHIES ¥C IEqaLEn (0t park ol.an
g algorithm until a condition is met or
students lose th program code section; o for s specified sasnber of times, (FK
. o the algornthm is not explicitly identified (1., the entire program is selected 41.10) -
POInt because th ey A” th ree must as an algorithm, without explicitly identifying the code segment o

S P » Selection uses a Boolean condition to
containing the algorithm).

D

) L . determine which of two parts of an
don’t associate the be fulfilled. algorithm is used. (EK4.1.1C)
function-with-the
purpose.
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ROW 6 - YES OR NO
WILL BE PART OF 2C TASK

Reporting | Task Scoring Criteria Decision Scoring Notes
Category Rules

Row 6 RESPONSE f Selected code segment » Responses are still eligible to eam this row, even if they do not eam row 5. « See Row 4 and Row 5 definitions
2 implements an algorithmthat |+  The included algorithms can be sub-parts of the algorithm in row 5. and curriculum framework
Appl includes at least two or mare alignment.
pplying aith
Algorithms SRS, AND Do NOT award a point if any one of the following is true:
o Kbkt one ot i ik o  the selected algorithm consists of a single instruction; or )
sk et motBemebced » the selected algorithm consists solely of library calls to existing Pay attention
: language functionality; or 9
o logieal eoncepts. o neither of the included algorithms nor the selected algorithm that to the things
AND includes two or more algorithms uses mathematical or logical concepts; or that will not
Explains h f1h s  the code segment consisting of the algorithm is not included in the .
* Fipamshowoneoiihe writien responses section of is not explicitly identified in the program work and will
included algorithms functions code saction or .
' offer no point

\independenﬂy. ) ¢ thealgorithmis not explicitlyidentified (i.e., the entire program is selected
as an algorithm, without explicitly identifying the code segment
containing the algorithm).

Must have all three.
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When you describe each of the
three algorithms, you need to
state

* The name of your algorithm

* The type of algorithm
(Selection, Iteration or
Sequence)

* Explain what it does

* Explain how it helps the overall
program.

Sequence algorithm: tells the computer step by step how it
should run. Think of it like a RECIPE
Example Making a Pizza:
base—> tomato sauce—> cheese = bake

Selection algorithm: this is a decision-making algorithm where
there is a choice to make before proceeding

Example Making Pizza:

base—> tomato sauce—> topping? (if yes, add parsley, if not, skip)
—>cheese > bake

Iteration algorithm:it is a set of looping instructions as the
program moves through

Example Making Pizza:

base—> tomato sauce—> topping! (if yes, add parsley and go back
to topping, if not, skip) > cheese = bake
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EXAMPLE OF PARENT AND CGHILD

ALGORITHMS

if{(item == "yarn") &&

(yarnCost <= score)){
score = score - yarnCost;
yarnCount = yarnCount + 1;

multiplier = multiplier + 2;

} else if ((item == "mouse") && (mouseCost <= score)){
score = score - mouseCost;

mouseCount = mouseCount +

i
multiplier = multiplier + 10;

} else if ((item == "lasagna"} && (lasagnaCost <= score)) {

score = score = lasagnaCost;

ount = lasagnaCount + 1;
multiplier = multiplier * 2;

}

setPricesi();

<:::;§gEEisibleltem@jlj::::>

updateScreen() ;

Main algorithm “purchase” - when he goes to the pet store
Child | algorithm “set prices” — when he clicks yarn, mouse or Lasagna
Child 2 algorithm “setVisibleltems” — the resulting change due to ability to buy
or not which is based on the purchase data.
Mathisd3@duvalschools.org

ount of All Store Items Math

rnCost = 20 + (yarnCount * 20);

st = 100 + (mouseCount * 50);
gnaCost = 500 + (lasagnaCount * 1000);

//Update Yarn Text

setProperty("buyYarn_button”, "text", ("BUY: " + yarnCost + " pts")};
setProperty("yarnCount”, "text", "You already own: " + yarnCount);

//Update Mouse Text

setProperty ("buyMouse button”, "text"”, ("BUY: " + mouseCost + " pts"});

setProperty("mouseCount”, "text", "You already cwn: " + yarnCount);

//Update Lasagna Text

setProperty("buyLasagna button","text", ("BUY: " + lasagnaCost + " pts"));
setProperty("lasagnaCount", "text", "You already own: " + lasagnaCount);

; abstraction

setProperty ("buyYarn_button","background-color™,"crimson");
//Change yarn button color if you can't afford it
if (score < yarnCost){

setProperty ("buyYarn_ button", "background-color", "gray"):

setProperty ("buyMouse button", "background-color","crimson");
//Change mouse button coler if you can't afford it

f({score < mouseCost) {

setProperty ("buyMouse_ button","background-color", "gray");

setProperty ("buylasagna_but

"background-color", "crimson") ;

'
//Change lasagna button coleor if you can't afford it

if(score < lasagnaCost) {

setProperty ("buylLasagna button","background-color", "gray") ;
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